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function CNF (¢):

/* precondition: ¢ implication free and in NNF */

/* postcondition: CNF (¢) computes an equivalent CNF for ¢ */
begin function

case
¢ is a literal: return ¢

¢ is ¢1 A\ ¢o: return CNF (¢1) A CNF (¢o)

¢ is ¢1 V ¢2: return DISTR (CNF (¢1), CNF (¢2))
end case

end function
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Transformation in CNF (2)

function DISTR (7)1, 72):
/* precondition: 1y and 7y are in CNF */
/* postcondition: DISTR (71, 72) computes a CNF for ny Vo */
begin function
case
71 18 M1 A mi2: return DISTR (111,72) A DISTR (112,72)
M2 is 121 A moo: return DISTR (71, 721) A DISTR (71, 1)22)
otherwise (= no conjunctions): return 7y V 79
end case

end function



function NNF (¢):
/* precondition: ¢ is implication free */
/* postcondition: NNF (¢) computes a NNF for ¢ */
begin function
case
¢ is a literal: return ¢
¢ is =¢1: return NNF (¢;)
¢ is ¢1 A ¢2: return NNF (¢1) A NNF (¢2)
¢ is ¢1V ¢p2: return NNF (¢1) V NNF (¢2)
¢ is =(¢1 A ¢2): return NNF (—¢q) V NNF (—¢2)
¢ is =(¢1 V ¢2): return NNF (—¢;) A NNF (—¢2)
end case

end function

u]
8]
1
n
it
N)
pe)
i)



DPLL-Algorithmus (rekursive Version)

Function DPLL-recursive(F, p)

Input: F: CNF Formula, p: initially empty partial assignment
Output: UNSAT, or an assignment satisfying F

begin

(F,p) + UnitPropagate(F, p)

if F contains the empty clause then return UNSAT

if F has no clauses left then
Output p
return SAT,
| < a literal not assigned by p
if DPLL-recursive (F|;, pU{/}) = SAT then return SAT
return DPLL-recursive(F|-;, pU {=/})

end




DPLL-Algorithmus (rekursive Version)

Function UnitPropagate(F, p)

begin

while F contains no empty clause but has a unit clause x do
F < Flx
p < pU{x}

end

return (F,p)
end




